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Questions

Diagonals of a parallelogram divide the parallelogram into

Question Image

triangle is an equilateral triangle:

Altitudes/bisectors of isosceles triangle are congruent:

Two lines can intersect at :

Question Image

How many lines can be drawn through two points:

Right angle means angle measures:

The symbol "for all" is:

H.S postulate is used for triangles:

Angles of an equilateral triangle are

If sum of two angle is 180°, then these are called:

One triangle can have only one :

A triangle can have only right angle:

The points are called collinear if they are situated on:

congruent triangles.

Answers Choice
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. Two

. Three
Four
Five

Perpendicular
Congruent
Parallel

Equal

Right triange
Scalene
Equilateral
Isoscless

4
2
3
None of these

Two points
One points
Three points
Unlimited

Equal
Congruent

If and only if
Correspodency

1
2
3
Unlimited

30°
60°
90°
120°

Acute-angled
Right-angled
Obtuse angled
None of these

. Congruent

Not Congurent
Right angle
Unequal

Vertical

. Supplementary

Complementary
Adjacent

Right angle

Acute angle

. Supplementary angle
None of these

A WN —

. The same line
. Different lines

C. Intersecting
D. None of these



